2D w4 = /74"
UNIVERSAL SCREWS

I 20G

STRUT

STRUT cCLIP 3° 20GA. STRUT

(2) PER SECTION ATTACHED
AT EACH STILE

W/ (2) 1/74° x 3/74°

SCREW. TYPICAL ON
ALL SECTIONS EXCEPT
TOP. TOP INSIDE CORNER
EACH SIDE

(1) 5/16” DIA. x 1-3/4"
AT EA. JAMB BRACKET

3° 20GA. STRUTS ATTACHED

HEX HEAD SCREWS l

<1) #10 x 3/4° PAN HEAD—X

TYPICAL DURASAFE END HINGE
© NTS.

LAG BOLT ATTACHED TO JAMB

14GA. DURASAFE

HEX HEAD SCREJS

NOM GLAZED SECTIGN

STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPLIED 3Y NSTALLER)

END HINGE ATTACHED
W/ (2) 1/4° x 3/4°

STRUT SPACING

3° 20GA. STRUTS ATTACHED
W/ (2> 1/4° x 3/4°

HEX HEAD SCREWS

14GA. DURASAFE
CENTER HINGE ATTACHED =Y
W/ €4) 1/74° x 3/4°
HEX HEAD SCREWS

bt —2<
b PN

Vs €2) 174° x 3/4° HEX HEAD SCREVS

GLAZING OPTION CROSS SECTION

TEST No. SBC~580-020 ON MAY 24, 2000 INCLUDED GLASS WINDOWS IN THE DODR BEING USED. THE
TEST PRESSURES WERE +49.5 PSF AND —51.9 PSF. BY COMPARISION, EIGHT (B) WINDOWS WAY BE
INSTALLED N :v ONE SECTION OF THE 16" X 7° AND 16" X B° MODEL 1500—-0 DOORS.

4

DeaoraFrarne WMINDOW FRAME

MIN. 3/32" THICK S5B GLASS

TIONAL Decro INSERTS
WTH UV PROTECTICN

[

ﬂﬂz UY PROTECTION

10) #8 X 3/4"
N HEAD SCREWS
AT EACH WINDOW FRAME

)

OLDED INSIDE FRAME

m

SPLICE TRACKS AT THIS LOCATICN

STRUT CUIP @) 1/4° x 3/4°
UNIVERSAL SCREWS
TYPICAL TOP_STRUT ATTACHMENT (S1) %
N.T.5 1
- 3 TYPICAL DURASAFE END HINGE [ S1) -t AL AoR
l NTS GLATED SECTION \_ 4 a 16 GA RESIDENTIAL
3 NOT AVAILABLE N 18° SECTIONT 27 GA EXTERIOR SKIN . TOP FIXTURE ATTACHED W/
12y 19 A (3) 1/47 x 3/4" HEX HEAD SCREWS
: ADJUSTABLE SUDE BRACKET ATTACHED
#HI Fl = W/(2) 1/4° x 1/2° BOLT AND NUTS
| v =1k
L) . L3 0 D 0 v 0 > v 03 M . .
H 11 \\ ol 7 7 7 \. \ \\\ ' \\\ 1 9 ° 27 GA INTERIOR SKIN
~mm. 2 8 \\ \‘\% \\\ T < g = a 5 |
=== = i — 7
80 w-] - 1 21 |._Em.
8y 19 yy i
— - = A a 7 i
o — 4 —  pr 70 3
’ - . s 5 POLYSTYR
o ! 2 1 e i 5 M R=573, U=017
a 4 4 i n %
[} (93
104° 2)° 1,
- . s
sk | 11 | . I..MW. )
A
463 46} —494¢
16°0%
SECTION HEIGHT SECTION HEIGHT
INSIDE_ELEVATION
L STRUT SPACING

CODE

A

W/ (4) 1/4"=20 TRACK SPLICE BOLTS & NUTS
Sectne 10 e Wi (Bhé PLARe” Ak
REVIEWED FQ
COMPLIAN
KEEP THIS PLAN ON

ER

CE
08

NYLON OR STEEL
ROLLER W/S° STEM

14GA. DURASAFE

ROLLER CARRIER ATTACHED
W/ C4) 174 x 2/4°

HEX HEAD SCREWS

TYPICAL DURASAFE CENTER HINGE/ S1)

BBRS BOTTOM

BRACKET ATTACHED
W/(3) 1/4% X 3/4°
HEX HEAD SCREWS.

~—————_CONT. ALUN. EXTRUSION
-~ W/ CONT., VINYL.ASTRAGAL

SECTION a-A (SIDE VIEW)

N.T.S.

20 GA. GALV. S
END STLE TEEL

i

2" GALV. STEEL TRACK ‘_
TRACK THICKNESS .063°

200

7/

TRACK _MOUNTING

7/

2/16" DIA. \
T RETAINER

(1) PER ROLLER

DETAIL

2 X 6 SOUTHERN YELLOW PINE
(NO. 2 OR BETTER)

\2/

WOOD JAMB ATTACHMENT TO STRUCTURE

RATED FOR 110 MPH F)sIIST-MILE BASIC WIND SPEEDS

YERTICAL JANMA ATTACHMENT 10 w00 FRAME STRUCTURE

5/16" X 3° LAG SCREWS v-.i:«!n. o* FROX ENDS THEN 24° O.C.

HILTI KWK BOLT 3/8° X 47 STARYG 6° FROM ENDS THEN 24° 0.C.
HRTI SLEEVE ANCHOR 3/8” X 2-3,4* STARTING 8~ FROM ENDS THEN 24° O.C.
ITW/RAMSET RED HEAD 3/B” X 3» grpRTING 6° FROM ENDS THEN 24° 0.C.

VERTICA! JAMA ATTACHMENY TQ ¢.gp BLOCK

_g
HILTE SLEEVE ANCHOR 3/8° X 2-3:4° STARTING 6” FROM ENDS THEN 24° 0.C.

ITW/RAMSET TAPCON 1/47 X 2-3,,» STARTING 8 FROM ENDS, USE PAIRS OF
FASTENERS (3" APAAT) AT 16° g0

"LAGS ANO BOLTS CAN BE COUNTERy ¢ TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WCOD JAMBS By gnyeRS

12 GA. GALV. STEEL
JAMB BRA . . )
3 D BolRjng & Lenng Jax., FL.
o TRACK SPUCE BOLTA
: A
Exdminer m:ﬂ: G .
License No. LD
o 7

a |*||||.

A R
T~ _ S x
- . 9
TRACK CONFIGURATION FOR 6'6 UP TO 8 TALL DOORS m :
)
JAMB BRACKET LOCATIONS - -
A B C D E s -
6°-6°| 4 le1-1/2° 39 57° 707
7'-0*} 4°21-1/2° 42° 637 76°
7'-6°| 4 )18-1/2°| 36’ 54° 72" | 821
8’-0°| 4° R1-1/2°} 39 57° 75° |88’
MAX SZE
28
SPECIFICATIONS AND NOTES
1. DOORS AND HARDWARE WLL BE DESIGNED, MANUFACTURED DESD LOADS|
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. +29.5 P
2. DOOR SECTIONS SHALL BE 27 GA. MIN. (.016°) INTERIOR AND EXTERIOR -3 PSF
ROLLED FORNED LIGHT CONMERCAL QUALITY, ~G—40 CALVANIZATION
3. DOGRS UPTO ﬂa.:.ﬂ.oeﬁﬂqmowguzuﬁwa«? TEST L0ADS
4. DOORS UPTO 8'0° HIGH CONSIST OF (S} SECTIONS AS SHOWN. +43) P
S SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED —433 PSF
BY A REGISTRED PROFESYONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAMNG IN ADITION. TO OTHER LOADINGS. x|
8. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE il OCTRP IR & FNSO6 I

WTH THE PROCEDURE DESOUBED IN ASTM £330—-90, AND THE
SOUTHERN BUILDING CODE SECTION 1508 WIND LDAD DESIGN CRITERIA
THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCLAATED USNG
THE FOLLCWING PARAMETERS:

A. BASC WIND SPEED OF 110 NPH

8. DOOR CAN BE INSTALLED WTH 5 FEET OF DOORS WUTH

INSDE THE EDCE STRIP.

C. 15" MEAN ROOF HEIGHT AT ANY SLOPE

b. USE FACTOR OF 1.0

E. EXPOSURE RATING OF C

SEN GRASSY OXTX RVO WDSTDS-IM DR NC ENI8)

MODEL #1500 WeatherGuard

] BT DI OE G RI AMTR
B of0aD Y wE BC-580-019-J
TAL: W07 10 SCAE sl 1 @}




@ /4 x /4
UNIVERSAL SCREWS

3~ 20GA. STRUT

(2> PLR SECTION ATTACHED
V7 (2) 1747 x 3/74° HEX HEAD SCREVS

¥ 206
sy AT EACH STILE
STRUT CLIP @) 174" = 3/74°
UNIVERSAL SCREV
TYPICAL TOP STRUT ATTACHMENT s o evs .
DUR
o URASAFE END HINGE /ST N 6 GA RESOENTIAL AMCR
" 0] NOT AVAILABLE IN 18° SECTIONS 27 GA EXTERIOR SKI TOP FIXTURE ATTACHED W/
12} 1w | 3 >
QM‘ . . T .\\- T -
- i — — = "/ \\ 24 hee
. . HE (H— H) ; HH L7 27 CA INTERIOR SKIN
16} 2 f \\\ | '/, \\\\ =
| | o o = o = o z S o o 7° .
8°0 r_ _ 1 T 4
8y e |2 e 2 mi Q)
— A 7 1!
94" — b —  pr 7
— ~— CFC-FREE EXPANDED
1Y 18° 2l e POLYSTYRENE INSULATION
- 11 R=573, U=017
gy . A A |wm.
10%’ a- | L
: I 2)r o END HINGE
5y . o 14 GA.
1 i
@MF _ —3el _ }
=g
16°0
SECTION HEIGHT
SECTION HEIGHT
INSIDE _ELEVATION
——— STRUT SPACING

14GA, DURAZAFE 3 ser
END HINGE *~~ACRED

v/ @) -

HEX HEAD .

3° 20GA. STRUTS ATTACHED
W/ (@) 1/4° x 3/4°
HEX HEAD SCREWS

NYLON OR STEEL
ROLLER W/3* STEM

14GA. DURASAFE
ROLLER CARRIER ATTACHED
W/ (4> 1/74° x 2/4°

(1) %10 x 3/4° PAN HEAD—X
HEX HEAD SCREVWS

SCREW. TYPICAL N

ALL SECTIONS EXCEPT
TOP. TOP INSIDE CORNER
EACH SIDE

N.T.S. NON GLAIED SECTION E

(1) 5/16° DiA. x 1-3/4"

LAG BOLY ATTACHED TG JAMB

AT EA. JAMB BRACKET STOP MOULOING
W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

STRUT SPACING

P

14GA. DURASAFE

CENTER HINGE ATTACHED
W/ (4) 1/74° x 3/4°
HEX HEAD SCREWS

‘PT’

/\

TYPICAL DURASAFE_CENTER HINGE

BBRS BOTTON

BRACKET ATTACHED
W/¢3) 1747 X 3/4*
HEX HEAD SCREWS.

\wj SECTION A-A (SIDE VIEW)

20 GA. GALV. STEEL

YT 7t = 5| 1l

L /L
—» 7!

7/16" DIA

27 GALV. STEEL TRACK
TRACKX THICKNESS .C63"

TRACK MOUNTING DETAIL

T RETAINER
(1) PER ROLLER

SOUTHERN YELLOW PINE

\2/
WOOD JAMB_ATTACHMENT T0_STRUCTURE

RATED FOR 1310 MPH FASTST-MALE BASIC WND SPEEDS

(3) 1/4" x 3/4° HEX HEAD SCREWS
ADJUSTABLE SUDE BRACKET ATTACHED

W/(2) 1/4" x 1/2° BOLT AND NUTS / \

"~ ———————CONT. ALUN. EXTRUSION
W/ CONT. VINYL. ASTRAGAL

VERDCAL JAMB ATTACHMINT TQ weon FRANE STRUCTURE

5/16> X 3" LAG SCREWS STARTING &' FROM ENDS THEN 24° a.C

HLTE KWK BOLT 3/8° X 47 STARING 6° FROM ENDS THEN 24" O.C.
HATS SLEEVE ANCHOR 3/B° X 2-2/4" STARTING 8~ FROM ENDS THEN 24" O.C.
ITW/RAMSET RED HEAD 3/8° X 3° STARTING B° FROM ENOS THEN 24° 0.C

VERTICAL JAME ATTACHMFNT TO ¢_gy RLOQK

MILT! SLEEVE ANCHOR 3/8° X 2-3/4> STARTING 6~ FROM ENDS THEN 24° 0.C
ITW/RAMSET TAPCON 1/4% X 2-3,4> STARTING 8° FROM ENOS, USE PARS OF
FASTENERS (3" APART) AT 15° Q.c.

"PREPARATION OF WOOD JAMBS BY n4RS

2 AGS AND BOLTS CAN BE COUNTERsuik TO PROVIDE A FLUSH MOUNTING SURFACE.

GLAZING OPTION CROSS SECTION

TEST No. SBC-580-02G ON MAY 24, 2000 INCLUDED GLASS WINDOWS IN THE DOOR BEING USED. mim
JEST PRESSURES WERE +49.5 PSF AND —51.9 PSF. BY COMPARISION, EIGHT (8) WINDOWS MAY B

INSTAUED IN (1) ONE SECTION OF THE 16° X 7° AND 16" X 8" MOOEL 1500-0 DOORS.

J DeoraFrome WINDOW FRAME

WITH UV PROTECTION

MIN. 3/3Z° THICK SSB GLASS

TIONAL Decro INSERTS
WTH UV PROTECTION

ON
10) 28 X 3/4°
HEAD SCREWS
AT EACH WINDOW FRAME

QLDED INSIDE FRAME

A
i

N

TRACK CONFIGURATION FOR 66" UP TO 8 TALL DOGRS

SPLICE TRACKS AT THIS LOCATION

W/ (4) 1/4°—20 TRACK SPLICE BOLTS & NUTS

e ooTs m@@m%m&.%.&?%mm

LAG BOLTS

REVIEWED FQ
EORE €OMPLIAN

SOATIeS So NI

KEEP THIS PLAN ON j0B

MAY 17 2601

JAMB BRACKET LDCATIONS

A B c D E hY
6'-6°| 4 [21-1/2°) 39° 57 70°
7°-0°] 4° 21-1/2° 42° 63° 76"

7°-6| 4 p8-1/2°] 36° 54 72° |82
8'-0°| 4°R1-1/2°] 39° S7° 75° 1887

" SPECFICATIONS AND NOTES

1. DOORS AND HARDWARE WL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
2. DOOR SECTIONS SHALL BE 27 GA. MIN (0187} INTERIOR AND EXTERIOR
ROULED FORNED LIGHT COMMERCIAL QUAUTY, G—-40 GALVANIZATION
3. DOORS UPTO 7°0° HIGH CONSIST OF (4) SECIONS AS SHOWN.
4, DOORS UPTO 8'0° HIKH CONSIST OF
5 SUFPORTING STRUCTURAL ELEMENTS SHALL BE OESIGNED
8Y A RECISTRED PROFESSONAL ENGNEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADCITION. TO OTHER LOADINGS.
5. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WITH THE PROCEDURE DESCRIBED IN ASTM £330-90, AND THE
SOUTHERN BUILDING CODE SECTION 1808 WIND LOAD DESIGN CRITERIA
THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING
THE FOLLOWING PARAMETERS:
A. BASC WINO SPEED OF 110 NPH
5. DOOR CAN BE INSTALLED WITH 5 FEET OF DOORS WIDTH
INSDE THE EDGE STRIP.

C. 15° MEAN ROOF HEIGHT AT ANY SLOPE 3 AR T U BE MM TRAB BMEIR
D. USE FACTOR OF 1.0 8 = BE SBC-580-019-J
£ EXPOSURE RATING GF C o

TAE NT D AL s 30!

af
Yy
e

49 4l
2 3

foe | m

ey

397 GRATTY CIIX MVD _ VDETIN-ZAIR KRG me

MODEL #1500 WeatherGuard




